ECOA(HN)-05

West Bengal State University
.A./B Sc / B.Com. (Honours, Major, General) Examinations. 20 15
' PART-III :

ECONOMICS - Honours
. _ - Paper-V o
Duration : 4 Hours _ , Full Marks : 100

The ﬁgureé in the margin indicate full marks.
e AR e opres)
Write the answer of each Group is separate answer book.

Group - A
[ Marks : 60 |

R =
_ 1. Answer any two questions from the following : _ 3 T 2x3=6
RaPRS - g 200 Bea e
‘ aj What are the ca'uses; of trade bt_:tﬁreen two countries ?
g ma@mﬁs&wwﬁmmm ?

b) Prov'e that the overall factor ‘endowment ratio, p, in an economy is a
_weighted average of the factor proportions used in two sectors of the

country. { Consider a2x 2 framework ]

oMY I @ m@wmﬁawww@w@«mw@w
Wﬂmwﬁ@t(WZx2 mﬁrw)

c) Distinguish between Balance of Trade and Balance of Payments.

e S @ (T SR At s ¢

[SUB.B.A./1.8c.(HN) ECOA- 12001 | _ | [ Turn over



- ECOA[HN)-05

d)

2

What is factor intenslty reversal ?

G- @Wﬁﬁwﬁﬁﬁwﬂmmw ?

e) Distinguish between nominal and real exchangé rates.
i AR 23e R FIEm T ol No w9 o
2. Answer any one question : | ' g - 1 x. g=9
@ @R @ 208 e i e
a) Explain the "Swan" diagram in the context of internal and external
N balance. __ ' ' -
ST ¢ AT AT SRR (2Pt Tt o et e |
b) What is meant. by Leontief Pérad;)x ? What are the possible explanations.
of this paradox ? l B _ 2+7
%mmwﬁs I ¢ ﬁfmﬁmwanmﬁrﬁsﬁs ?
3. Answer any three questions : _ 3x15=45
@ o e A S s
a) Derive forei;gn trade multiplier without and with for;elgn repércussioﬁé
effect. | '
e At \zactasfc‘ﬁonasferm wmwwmﬁﬁwu
b) Explain the shape of Ricardian offer curve with diagram. Discuss the .

situations whenin a Ricardian framework entire gain from trade is either

due to exchange or due to production specialisation. 3+6+6

wmm«mmmwwsﬁm@wmm
+RA7 Smy o, Wwﬂ%awﬁﬂm@ﬁwaﬁ#ma@ﬁﬁmwﬁw
wwwawﬁmﬁmwﬁm
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c)

- d) Define ‘effective rate of protection' and discuss its usefulness and
+ - limitations. "For every quota, there is an equivalent import tax". Explain
with suitable diagram, : 7+8
| SRR PSR QA P A ?mﬁmﬁm\aﬁmﬁwwwr‘m
(DRI ATATT B RGP I ST 6 AP e”@wﬁmm@%ﬁa_
RN BT T 1
ey Describe the effects of devaluation of currency on Balance of Payments of
- a country. In this connection, distinguish between the elasticity and
absorption approaches to devaluation, 5+10
(TR BN SOETRGR (A SEACTA G4 2R AL I | O% oPTCR
meww@mqwmmmaﬁqﬁmﬂm '
Group-B ~
[ Marks : 40 ]
: o -4 ,
4. Answer any three of the following questlons . : 3x4=12
@ a6 ervem T et ¢ |
a)  Explain the merits of value added tax.
" TS TR R i s |
b} ©. Do you think that ‘equral marginal sacrifice’ would always lead to a
) progressive tax structure ? Give reasons for your answer.
o & WA e NWWW%WWWWWWﬁW
TR ? BEERA WATHF [F (U |
cl What is merit public good ?
RO el TSI B IS A ¢ |
d} Is there any problem of taxing capital gains ?
AL AICSA BT 9 AT CFCF 5 (P O 23 2
e} What are the characteristics of an ideal System of income tax ?

3 o ECOA({HN)-05

State and explain the basic assumptions of Heckscher-Ohlin theorem.
Establish the Heckscher-Ohlin theory of trade in terms of physical
deﬁnitlon of factor abundance, 6+9

IR-efem afEreres Y& wamef W@’Fﬁlﬁl‘ e | BoAiee eﬂk‘oﬁ
@I IR T G T T | ‘

«fl el s T LaRRsf e e 2
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5. _ _AnsWer any two of the following questions : _ 2x 14 =28
- gD e Bea @A ¢

a) Why does the Pareto optimahty' condition differ in the presence of public
goods ? How do you derive an optimum solution for the allocation of

resources between private goods and publ'lc goods? 7+7

wﬁm@ﬂ&moﬂm(mem)wwmﬁﬁa@@m?
@R ¢ TR WA S ﬂzﬁmwaqﬂmmwwﬁs
%ﬁwﬁ‘fﬂ@we

b) Analyse the impact of an income tax on risk-taking.
Y e S WG ot R 7 |

<) Show that the effects of taxation on savings and consumption depends
largely upon nature of tax, definition of taxable income, definition of

savings and nature of tax payers.

PR (T (S5 6 FeeTT 69 T U Waﬂfﬁi SACY SUCHR AL, AT
Wlﬂaawwwﬁweﬂaﬁﬁﬁi

d) Dlstinguish between ‘internal debt’ and ‘external debt’. Does. public debt

create a burden for future generation ? . ' . 4+ 10

Wma%mmmmfm W1Wﬁwq%@ﬁmwﬁm
(IR O SR 7 2
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West Bengal State University
B.A./ m Com. (Honours, Major, General] Examinations, 2015
- PART-III
ECONOMICS - Honours
- |  Paper- VI - o
Duration : 4 Hours Full Marks : 100

The figures in the margin indicate full marks.
ARTY AT ST (e |

-Group - A
| - Reos -
1. Answer any six questions froro the following : - B 6x4=24
FrRIe co-com efS oois Ses fv e | |

a)  Briefly mention the major changes in the -sectoral composition of
- national income during the plan period in India.

me@nwmﬁ%@a%mm@w«mmwﬁm'
W‘Tﬁmﬁﬁmﬁwn

b} State the impact of Green Revolution in Indian agr_lculture.
oS ee e KR eeRef So T .
c) What are the various ways in which poverty has been measured in
India ? :
SIRCS CHR (T ~Iiore Fiey Ao ¥ 2 ¢
d) . Mention the reasons for deceleratlon inn the rate of industria.l growth in

India since mid-sixties.

‘@m 1960~ﬂawmwﬁrcwﬁa@awmammﬁﬁmwﬁ_

'ﬁmﬁ:@m
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) What dgfects still exist in Indian tax structure ?
| wﬁuﬁmamﬁsﬁs@mmw*
ﬂ ~ State the/main features of Indian capital market
SIS YT A A taﬁ%m% BraY I |
;g} : Define the concepts of 'Fiscal deficit' and ‘Budget deficit’.
ferragier wiBe” @ “arwD <MHfeR A i | |
.. h] What are the measures undertaken recently to !mprove 'Balance of

Payment' problems in India ?

s R (T TSR ST e el s ¢

1) State the weaknesses of the public sector in Indfan industries.
A TAIA! NECHEd HeTeiaf] Brae T |
j)' . Briefly mention the nature of unemploy'meht problem in India.

TIAS (TR A AFSA G0 7S ACAGA 3 |

Group-B
e -4
.Ahswer any two of the.follo“nng queétlons : o 2x8=16
@-cam s em-q’ TeR i S |
2. Discuss brleﬂy_ the impact of Globalization on Indian agriculture.
s qsﬁ_?xs Pt oTq TR SNCEat 41 |

3. -Discuss the achievements and failures of the monetary policy of the _Réserve
" Bank of India. '

T TS TR SR o o @ e et A

[SUB-B.A7B.8¢.(ANj ECOA-12037 |



3 | ECOA(HN)-06
Discuss the changes in Industrial policy in India since c:tarljr nineties.
@—cﬂﬁﬁ‘@ﬁ@ﬂi (A ST RERIRTS (X oI & AT of el 3
Discuss the ﬁnpact of economic reforms on poverty in Inciia. ' |

- SIATS AR Goi St SR UOT SHCAIDe T |

Group-C
faete - ol
 Answer any four of the following questions : 4 x 15 =60

A-FW G gead O g

Comment on the nature of Institutionalisatioh of rural E:redit in Indta. In this
regard how far the role of NABARD is justified ? _ : 10+ 5

Wﬁﬁﬁmﬂ@aﬁqmwwwm@%WW|ﬁﬁﬂm NABARD-4%
—ﬁwﬁsﬂﬁwwfﬂw

What were the major objectives for introduction of Public Distribution System
(PDS) in India ? Justify the continuation of such a scheme dependent on a
substantial government subsidy. - : : . 9+6

SIS A5 IY B FAR A4 Sl [ et ¢ g Wwﬁwﬁmm
O R NI (IY) IS AR IACTE I G |

Evaluate the major changes that have taken place in the Indian tax structure in
the post reform period. What further changes can you suggest in this context ?

10+6

| GHIANGR BIATS $F A mwaaﬂvﬁa@aﬁawﬂwm?ﬂﬁtm

O AT ARIST oo it e o
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ECOQA(HN)-06 _ 4
9. Critically explain the pattern of financing for Iticl_la's five year plans. In this
connection ‘evaluate the role of deficit financing in our economy. . ‘10+5

Wﬂﬁ@ﬁﬁ%ﬁﬁﬁﬂﬁ@ﬂ@@%%@ﬂﬁﬁmw | 4% AfRrefere S
w@ﬁz@ﬂﬁ%wﬁwaﬁﬁmwwn

10. _Descrlbe the problem of price movement in India in recent decades. Write a

critical note on the adopted policies to control this problem : 7+8

wm%am@%m@*mmmz ﬁ%ﬁfwwwwmﬁwﬁmﬁ@
%@wmﬁwﬁw:

11 Discuss in detall the nature and probiems of unemployment in Indian Economy.

SIASR SRS @ FOUF 23 @ FriEed Relieena e s |

{SUB.-B.A./B.Sc.(HN)-ECOA-12037 |
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West Bengal State Umversity
B.A 7B ScHB. Com { Honours, Major, General ) Examinations, 2015

PART - HI

EC’IONOMI_C.S' — HONOURS
Paper — VII

Duration : 4 Hours ] . : _ ' f F‘ull Marks : 100

_.Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.

e qUPTET S @ e )
o AN oy corew

Use separate Answer script for separate Group.

'GROUP - A
ot
{“Marks :50}
1. . Answer any _three questions : o .- : . 3x4=12
A-(FA fenll e Tea i ¢
a}  Define (i].. random experiment, (i) equaily_ iikely event. _ ‘ 2+2
SR T (i) TG S, (1) W‘@W 961 1 |
b) = What is the probability that a leap '}Irear', selected at random, will contain -
53 Sundays ? ' |
Wﬁ?ﬁ(ﬁ@ﬁ%ﬁﬂ%%ﬁ?ﬁﬁ%ﬁ@ﬂm9
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) Déﬁﬁé a Binomial distribution and state two properties of the disfribution..
o | 24(2x1)
b faom frees e i @3k a7 qfb @ P |
d) What is cumulative distribution function ( F(x))? Explain with exaﬁpieQ
| THRA AR ‘Cumulative distribution’ SIF=ed (e ana T |
e) Explain the concept of ‘Sa’mpliﬁg dist.ribution’ and ‘Sténdard error’ of a
’ " statistic. - o 2+2
@Waﬁ@rﬁ:ﬂﬁm WWBWE@WWWl |
f} “Critical region” of a test depends on Alternative Hypothesis {Hy). —Isit
| true or false ? Give reasons. ' :
- G AT 5A% T ( critical reglon)vrﬁa‘m (H1) CEACE] ﬁ’?ﬁﬁn —
«fty 3 A fewt 2wl G | '

2. Answer any one question : . | _ 1x8=8

cﬁ-m@ﬁm@mﬁa:

a) X and Y are two random variables having the joint probabﬂlty distribution as

glven below ;

.\0 - 5
x _

0 01 o1 | ot
1 -1 o2 | ot
2 01 .01 | 01

iy . W'rite_ down marginal distribution of X and marginal distribution of Y.

.ijj Showthat E(X)=E(Y).

iff) Calculate p,,, { correlation coefficient )

| S8UB-B.A/B.Sc.(HN)-ECOA-12073 |
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-iv) Are Xand Yindependent ? C ax2

qfb TR X @aR Y-aF W YT TR THS (RGN T 3
N 1o N
0 o1t 01 | Ol
t | o1 o2 | o1
-2 01 01 01

q) - -QEWWEYQ?WWWWI
) R CT, B (X) = E(Y)

i) Py correlation coefficient ) Bty T ¢

v) X6 Yo Raers sere o

-b) i) State and prove Bayés’ theorem. 2+2
Bayes-&a¥ Tooplh o @ awe s | _
if) If Hgy is accepted at o % level of significances, it will definitely be at

oy % level of significance where o< ag, —Is it true or false ? _Give
reasons. .. ' - - 4
;W Hy, ay % SRl FRE BTS2, O B SE ag%—:wa“ﬂ’lm UEI)

TR A, oy < ay —'awﬁfﬁﬁsmw9wwww: |

3. Answer any two questions : ' 2x15=30
-1 fb o0 T e 3 |
a} ij A random variable X has the follomng p.d.f. :
' kK, -2<x<2
x -
Jix) _ {'0 ~, otherwise _
x} Determine constant k.

¥l Calculate P(|[ x| >1}). 2+ 4

[SUB-B.A/B.Sc.(HN)-ECOA-12073 | . [ Turn over
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aﬁm@awm} mwwmm(pdf ) =T (st ¢
- kK, —2<x<2
o - {2
- C 1
X) R k- T S
v} P(|x]>1)%9FFT )
ii} Find the mean and standard error of a sample mean in both SRSWR

and SRSWOR, : ' 9

.SRSWRM\SRSWORWW@%%WW%@WE%
el 59 | "

b i) A picnic is arranged on a particular day. According to weather fofecast
there is a 80% c_hanc.e of raining on that day.'Th:e. probab.ility of a good
picnic on that day is 03 if it rains and 00 if Iit'doeé. nd_t. What is the
probabilitjr__that the picnic will be good ? - - _' 9

@ a3l e ot ewee 2@ R zme |'W~eﬁmmmmﬁ
Wﬁ’r@ﬁﬂj@wmm% | 3% 9B = oW & B @l Sereey
ISTEE SRA 0-3, Wﬂﬁqﬁmﬂm@wog | FTCSRRAS
TOTENT TR U TSR IS ¢

iij  For any two eventg prove that
P(AN B)sP('A)sP(_AU_B)s[P(A)+P{B)]Q 6
(O 75 CBA G A T 8

P(AN B)sP(A)sP(AUB)s[P(A)+P(B))

- [SUB-B.A/B.S¢.(HN)-ECOA-12073 ]
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c) i) Deﬁne a Normal distribution and dlacuss about lts importance. 2 +4

Wﬁwm«ﬂmﬁr«fm\m@rﬂm@ww |

i} Ina Norr_nal distribution 8% of the items are under 50 and 10% are
over 60, Find Mean and $.D.

0-08, when z = 1.4

2
Given : I% e %" /24z

_ . z =010, when z = 128, - . 9
BT asﬂ?r RIET 8% T3 -50-97 TG @3 10% TT 60-97 Tof@ |
AT 51T @ T [Aps Frefy T3 | S
d')- i) What do you mean by a sufficient estimator ? - ‘ _ 3
@%b sufficient s et e |
u) Distinguish between ‘Point estimation’ and Interval estimation’. ‘ 4

Point estimation’ 93¢ Tnterval estimation -9 AT BT &

“iii} A random sample of size 10 { n = 10 ) was drawh from a Nofmal
population with mean p and variance c? leen o2 = 7-056 (mches)
If the sample observations are (in inches) 65, _71, 64, 71, 70, 69, 64, 63,
67, 68, test the hypothesis Hg: p = 69 {inchj, against Hj:p# 69 (inch)
at 1% level of significance. Calculate 95% confidence interval for p.

Given Z20.025 = 1- 96 Z0. 005 = 2-58. - . 8

&3> T population (VTF aﬁmwm AT T 'Q"Fr eI ERAVAIES
SR 10 (n= 10 ) 3¢ Y p @ ($H T o2 | (FF TMZ

= 7-056 { inches )% | T &7 2 65, 71, 64, 71, 70, 69, 64, 63, 67,
68 (EfEEre) | 1% wes N sfarufers TR FF4 Hy: p = 69 (inch) T4
e Hj:u#69 (inch) | p-&% T] 95% confidence interval refs 3@ |

25.025 = 1196, -25.005 = 2'58.

[SUB-B.A/B.Sc.(HN)-ECOA-12073 | : [ Turn over
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GROUP -B
- frera
. { Marks : 50)

1. Answer ény three of the following questions : . : Ix4=12

mmﬂﬁﬂﬁm@wﬁq g

a}  What ‘do you mean by steady state or statlonary value in dynamic

equilibrium ?

_'Wmmcﬁﬁ%cﬁﬁsm&f‘@%wwﬁswp

b) | Let y stands for energy demand and suppose that it grows according to
= Sy- 10.

It cnergy demand has a value of 100 at time £ = 0, deterrnme whether Yy ever

converges to mtertemporal cqulhbnum

A T y wﬁmmﬁmﬁaﬁ?qmm\ﬁﬁﬁm—ﬁaﬁqwmmﬁm
e o s -
= S5y-10
a ﬂﬁhOWﬂﬁﬂﬂf&WﬁWlOOﬂW@yWWWﬁwmﬁ
forfias T |

¢l Let MR = 16 x . Find the maximum total revenue. Also find the total and_
average revenue and the demand function,
T MR = 16 - x2 7Y ©r T G W B 5w o Frefy v | cm%rfm TG B¥
3¢ bifEwr Ssrw el Tw |

d) What is the difference between pure strategy and mixed strategy in Game
theory ? _ | -
mﬂwawcﬁﬁ%eﬁucﬁﬂﬁaam«mfmﬁv

I sﬁB-B.Am.Sc.(Hm-ECOA-12073]
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€) For a profit maximising firm under perfect competition the imarginal cost
' function is | | o
CMCl{g) = 2g+ 1.
Find producer’s sufplus at price P = 15.I _
S{of1 SRSTAPBrOETS IR @B T TSR TG A T el 2o
MC(q) = 2q+1. |
e I P = 15 ZX O TesAwerd TgE Fefy v |

f What is the economic significance of Hawkins-Simon’s condition ? Explain.

2R MR- <7 e Sresrd i 7 N T ¢

2. Answer any one question : ' 1x8=8

Q- @ o7 Tag B

a) . Let demand and supply functions be
Qg = «-pP (a,p>0)
Qs = —y+2P" (y,8>0)
Assuming that the rate of change of price over time is directly proportional to
the excess demand, find the time path of price P({ t). How will you explain

_ the dynamic stability with the help of the time path of Price equatmn if the

equllibnum prlce diverges from the initial pnce ?
T <9 BITRAT 8 CRIATFT o Ferg TfiReerafil 21 TR,
Qg = a-BP (0,p>0)
) Qs =-~v+3P (y,8>0) _
W AFREEEE T T WS SR TR Y TS T S@ WOt SF oY

P{t) ey oo | 42 Wit WINT oI ANSICR M2 i oo siiete
FRfoTeTel A1t FaCe T3 SIS WIN e R (0 Sl 7H 7

- {SUB-B.A/B.Sc.(HN)}ECOA_12073] - [ Turn over
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b)

A firm produces two products X and Y. The profit per unit of X and .Y are

Rs. 5 and Rs. 6-respectivéiy. Each product passes through two processes.
Product X requires 1 hour of process | a.nd 2 { two ) hours of process II per
unit. Prociuct Y requires 1 hour of process I and 3 hours of process I per
unit. The firm _has a capacity of 5 hours of process I and -12 hours of process

II.- Formulate a'lineaf prograniming problem and det‘ermiﬁe the optimum

. product of the firm and maximum profit by, graphlcal method.
@3l T X @38 Y{\%W@&WW| ofs a3 X @12 ofs 93 Yc—m@wr—zsr
55 8 6 b1 er%ﬁ%mg%orﬁﬁﬂmmﬁ@@waﬁ | X 9@ &% a30@d oy

awwﬁm«%left‘a@mwf‘wzﬂfmmw | Y HEE oS Q@ G el
Wlw@ﬁ@ﬂwﬁﬂsﬂﬁmmlﬁmﬁwwmﬂmw
s_w\eﬁ_ﬂﬁf‘w@awwm T | a3 e conafic.ag sem tofd
THA | (FRbE oot MW qib G T SRR AT @3y FHifEws e Fefy

3. Answer any two of the following : 2x15=30
QT 7B o0 %7 T ¢

a i) Present the Leontief’s two- -industry. mput-output static open model as a

simpiified linear programming model. ' 8

-%@Wﬁﬁﬁﬁﬂ?ﬁ%ﬁ%ﬁwwﬂ%mmﬂﬁ?m
centefifire-@ ol &M T SO T |

)  The inter-industry flows of the products of two industries are given

below : .
Production Consumption Sector " Domestic Total output
_ sector X Y demand
X 30 40 50 | 120
Y 20 10 1 30 60

Determine the technology matrix and test Hawkins-Simon condition for

viability of the system.

[SUB-B.A/E.Sc.(HN)}-ECOA-12073]
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If 3 and 2 labour days are required to produce one unit of X and Y
respectively and wage rate is Rs. 10 per day then determine
equilibrium pl“ICCS C : - 3+4

_ﬁﬁmwwwﬁ’rwm%q SO BRIl @ (b BT
mem%xmwmmﬁﬁwesﬁmwﬁ@qmw'
e o '

_ a‘r‘wwawxwmamsmy m@eﬁmwamstﬁme
2 (®) = et =t e e eifs et 10 Tl = o wrey Wi f
TEF | |

b) i) Set up the Samuelson model of multiplier accelerator interaction. Use
the solution of second order difference-equation to interpret the time
path of cutput Y for

V< (1—&)2 and v (1-+J§)2
where Y, v, s have their usual meanings. 9
@wwwmwﬁmm@mﬁw | fagre
: mmﬁmmwmwma?w Ynﬂamﬁwmﬁmmw
Wv-:(—\@)z GE AT (1+J§)' . _
i}  Consider the following demand and supply functions of a com'.modity.

mﬂmm&memmﬂwﬁvm@%ﬁmﬂmﬁu
. Qg =a-bR (ab>0)
Qs = —c+dPF _; {‘—‘»d>0]-

-Equilibrium condition is

GG *1S 25

Qar = Qst _
Derive the first order difference equation of price and find out the time
path of pricé Also analyse the condition for its convergence. ' . 6
WQWWWWWW%%W | WG A REEICERRCEN
I SR 16 RerE T |

~ [SUB-B.A/B.8c.(HN)-ECOA- 1207y - [ Turn over
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R

i)

i)

10

" Consider an ecoromy that can produce two goods Xjand X, using

two factors of productmn Labour (L) and capltal { K ) and unit cost is

‘equal to the prevailing commodity price.

app.w+ey.r = Py

Qrn.W+ag,.r = Py, .
where a;; and ay; (i =1, 2 ) indicate optimum levels of factor
requirém_eﬁt per unit of production, Now with the help of Cramer’s rule

show that an increase in the price of one commodity raises the price of
the factor which is used more intensively in the production of the

- commodity and reduces the price of the other factor. : 8

aﬁw@mm(mm\sﬁm(mmmqﬁm X, @ X, Testw
wmmﬁlmawef*@awwc@mﬁwwm|

Cap . wHag-r = Py

aLz.w+ak2.r_= Py, _
ap; @R a,c-i_'(i="1,2)wm OF GTF -V HA TRAME W e
sifet ¢ SFE FemeE o | @ Cramer -7 FITEH TR AR

| GTET R T g A1 & HRR St PRSI A Somelba wit g

ST @98 T SO WIS BT AT |
What do you mean by basic feasible solutiOn in a linear programming
problem ? - : ) 2

hﬁwcmaﬁ\aﬂﬁﬁﬁf@ﬁ?{wmwﬁsmﬂ? |

A monopoly firm faces the ( inverse ), linear demand function P= a - bg
and has the total cost function C= cq_2 , ¢>0. '

The governmerit imposes a tax of ¢ per unit of output. Then how does a
change in tax rate t affect profit maximising output level g ? 5

aﬁamwwmmemmﬂwwﬁﬁﬁw
P=g- chﬂ?T\C cq c>0.
ﬁi%aw@ewwmﬁmqwﬂmﬂm|awt-mvﬁw
oﬁaﬁﬁﬂﬂwﬁﬁw@wwﬁﬂm(q)@ﬂﬁm'mé '

[SUB-B.A/B.Sc.(HN)-ECOA-12073 |
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dy i} What. do you mean by Nash equilibrium in the context of Game
Theory ? : 2

CoI STY I SIS FeTCS 136 A 2
i)  Find all the Pure-Strategy Nash equilibrium for the following game.
Check whether they are dominant strategy equilibrium and Pareto

optimal outcome.
' High' Low
. High (50,50) (10,20}
Low (20,10)  (15,15) - 6
o Al AT TAGHT OF I I SR Fefy 3T | @ef e
Wﬂﬂa-mwﬁhmmw | | '

i)y Consider a two-person constant sum game where A and B are two

players and A’s pay-off matrix is

Player B
Player A a1
: 2 3

Determine the value of the game and the optimal mixed strai:egicé for -
each player. | ' : _ ‘ 7
@l 12 IR RFR &0 o i $941 REwT S99 @A A @ BTET
TS | A4 (o syl o | |

Player B

4 1
Pl A
ayer [ 9 3 ]

; (IR T %, TSR CHETAISR <y foet et R <o | |

I_SUB-B.'AJB.Sc.@'N};EOOA- 12073 ]
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West Bengal State University

B.A./B.Sc. /B Com | Honours, Major, General } Examinations, 2015
PART - III

- ECONOMICS — HONQURS
" Paper — VIIT -

Duration : 2 Hours | ' . ' - [ Full Marks : 25

Candzdates are required to give their answers in their own words as far as practicable.
' The figures in the margin indicate full marks.

- Te7 IYrTE A oy @ i
T R A oot

‘GROUP - A
Rt
 Answer any one question from Q. Nos. 1 to 2. 1x15=15

oM TRAT S (ATE X 9T W (X (T 3 ey Tey faw

1. | Trace the development of Irrigation in. India during the British rule. In this
context, discuss thc i‘am‘oﬁs ‘Railway vs lrrigation’ csntroversy . B+ 7
Wwwwmaﬁ?wa r atwqwﬁrﬁs @ﬁﬁﬂwm
st wr@sm A |

2. Examine the a.rguments advanced to explain the theory of ‘Economic drain’ from
India in the second half of the nineteenth century. What were the economic effects
of such drain ? . | 10+5
Tfaen o PSSR (T Tl FrEpR’ wwmmmq@mm
ﬁsﬁwﬂwmtﬁwmwmmwﬁw |
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GROUP - B
fatot-«
3.  Write short notes on any two of the folloWing.:
@ o o Sorm e e e ¢
i) Land.Révenue System under ‘perman_ent‘ settlement |

~ Al)  Old guarantee system.
S SRS AR |
ilij Ryotwari system.
ARSI I |

iv)  Railway freight and fare policy.
@ SIS ¢ TS A |
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